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—n (20 ﬁJ )On October 1, 2008, Milan Enterprises bOITOWS $300, OOOcash from a bank by- .
signing a {hree-year installment note bearing 10% interest. The note requires equal total
payments each year on September 30.

Required

1. Compute the total amount of each installment payment. (P42 7 A % B )

2. Prepare the journal entries in which Milan records (a) accrued interest as of December 3 1,
2008(the end of its annual reporling period) and (b) the first annual payment on the note.

3. Assume thal the note does not require equal (otal payments but three payments of accrued
interest and equal amounts of principal. Prepare the journal entries (o record (a) accrued
interest as of December 31, 2008(the end of its annual reporting period) and (b) the note’s first
annual payment.

Table A ( Present Value of 1) Table B ( Futuve Value of 1) *
Raie Rate a
Periods 8% 9% 10% 12% Periods' | 8% .‘)% 10% 12% E
| 0.9259 0.9174 0.9091 0.8929 0 1.0000 1.0000 ‘()_)(;)“ 1 U()\')OV %
2 0.8573 0.8417 0.8264 07972 | 1.0800 1.0900 1 16u0 | 124)()4 &’
3 0.7938 0.7722 0.7513 07118 2 1.1664 11881 l.21(.)—()ﬂ li_‘l', EP
4 0.7350 0.7084 0.6830 0.6355 B ¢ | 1 2597 12950 13310 It-lul‘)w ﬁ
5 0.6806 0.6499 0.6209 0.5674 - 1.3605 14116 1.4641 15735
AQYS | 1 a6h3 ];;86 1.6103 1.7623
Table C ( Present Value of an Annuity of 1) labte 1 ( Futmie Value ol v ity of 1)
Rate e e e [P
I 05259 | 09174 | 05091 | 08929 1| 10000 | 10000 | 10000 | 10000
2 17833 17591 17355 16901 2 2.0800 | 2.0900 [ 2.1000 | 2.1200
3 2377 23313 24869 24018 3 3.2464 3.2781 3.3100 3.3744
4 | 3312t 32397 | 3.1699. | 30373 a | aso61 | 45731 | ac4i0 | 47793
5| 39927 | 38897 | 37908 | 3.6048 s | ssee6 | 50847 | 61051 | 63528
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0§/12/31  0712/31 0y/12/31  09/12/31
W $150,000 $100,000 M IREX $265,000  $220,000
HEES 40,000 ---|WE{< A 70,000 65,000
JEIKOIE X R EED 420,000  290,000|RE{] HEF] 35,000
i 330,000  210,000|EfS B2 H4-09 4EHTR 250,000
T2 50,000 25,000[EsEIEEA 600,000 485,000
EE & E 565,000 300,000 HEEX 280,000 130,000

BRI (55,000)  (25,000)
Al $1,500,000 $900,000! HEF $1,500,000 $900,000
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IR PHE(ESETEBIIA) $3,200,000 $2,000,000
R 2,500,000 1,600,000
MEEEF $700,000 $400,000
B 500,000 260,060
AR $200,000 $140,000
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1+ Finesse Co., purchases and installs a machine on January 1, 2004, at a total cost of $92,750.
Straight-line depreciation is taken each year for four years assuming a seven-year life and no
salvage value. The machine is disposed of on July 1, 2008, during its {ifth year of service.
Prepare entries to record the partial year’s depreciation on July 1, 2008, and to record the
disposal under the following separate assumptions: (1) the machine is sold for $35,000 cash

and (2) Finesse receives an insurance settlement of $30,000 resulting form the total

destruction of the machine in a fire.

2« The stockholders’ equity of Whiz.com at the beginning of the day on February 5 follows:

Common stock-$25 par value, 150,000 shares authorized,

60,000 shares issued and OULStANAING. . .oovvvvcrniiinn $1,500,000
Contributed capital in excess of par value, common stock....... 525,000
Total contributed CAPIAL. ..o 2,025,000
Retained GATTHIES . .o« eeveerrerrereerornsern s e 675,000
Total slockholders® eqUILY. ... vccrrrrirermmirrrrr e $2,700,000
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~ On February 5, the directors declare a 20% stock dividend distributable on Febriary 28 fo the

February 15 stockholders of record. The stock’s market value is $40 per share on February 5

before the stock dividend. The stock’s market value is $34 per share on February 28.

(1) Prepare entries 1o record both the dividend declaration and its distribution.

(2) One stockholder owned 750 shares on February § before the dividend. Compute the book
value per share and total book value of this stockholder’s shares immediately before and
after the stock dividend of February 5.

(3) Compute the total market value of the investor’s shares in part 2 as of February 5 and
February 28.

Y « (20 4}) Match each of the numbered descriptions with the principle il best reflects.

A. General accounting principle E. Specific accounting principle
B Cost principle F. Objeclivity principle

C Business entify principle G Going-concern principle

D. Revenue recognition principle

1 ~ Usually created by a pronouncement form an authoritative body.

2 - Derived form long-used and generally accepted accounting practices.

3 - Fintancial statement information is supported by evidence other than someone’s
opinion or belief,

4 ~ Revenue is recorded only when the earnings process is completc.

5 « Information is based on actual costs incurred in ransactions.






